ISC 2022 analysis of study-solutions
Bor/Herbstman study Nr 4

all correct [wrong |nothing
1.5d7 94 77 6 11
Rxd7 77 75 1 1
2.Bxf6 75 70 5 0
Kg6 70 39 30 1
3.dxe6 39 39 0 0
Rxf7 39 36 0 3
4.e7 36 33 3 0
Kxf6 33 29 3 1
5.e8Q 29 29 0 0
Rf8+ 29 29 0 0
6.Kh7 29 29 0 0
Rh8+ 29 26 2 1
7.Qxh8 26 26 0 0
Bxf8 26 26 0 0
8.Kh6 26 26 0 0
Bg7+ 26 26 0 0
9.Kh5 26 26 0 0
Korolkov study Nr 10

all correct [wrong |nothing
1.e5 94 79 6 9
Bxe5+ 79 78 1 0
2.Ka2 78 60 17 1
Bd4 60 52 7 1
3.Bb3 52 51 1 0
Ked 51 51 0 0
4.Ra5 51 51 0 0
Bc5 51 51 0 0
5.Bad 51 50 1 0
Kd5 50 50 0 0
6.Rab 50 50 0 0
Bb6 50 50 0 0
7.Rxb6 50 50 0 0
h1Q 50 50 0 0
8.Bcb+ 50 50 0 0
Kc5 50 50 0 0
9.Bxh1 50 50 0 0
Kxb6 50 49 0 1
10.h4 49 49 0 0
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Minski nr5 Cat-2

all correct [wrong |nothing
1.Bc6+ 166 42 63 61
Rxc6 42 42 0 0
2.d5 42 41 1 0
Bxd5 41 41 0 0
3.Ral+ 41 38 3 0
Kb5 38 38 0 0
4.5d4+ 38 38 0 0
Kc5 38 37 0 1
5.Rb1 37 31 6 0
ab 31 31 0 0
6.Rb5+ 31 31 0 0
axb5 31 31 0 0
7.Sb3+ 31 31 0 0
Nadareishvili Nr11 Cat-2

all correct [wrong |nothing
1.Rd4 166 46 42 78
Sf5 46 20 24 2
2.Bf4 20 15 5 0
Sxd4 15 14 0 1
3.Bxd2 14 14 0 0
Sb3 14 4 7 3
4.Bb4 4 3 1 0
axb4 3 2 0 1
5.axb4 2 2 0 0
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Wotowa Nr 6 Cat-3

all correct [wrong |nothing
1.d6 325 151 96 78
Be5 151 96 51 4
2.Bb8 96 68 25 3
Bf6 68 43 23 2
3.d7 43 36 5 2
Bd8 36 30 6 0
4.Bg3 30 23 7 0
a4 23 21 1 1
5.Bh4 21 21 0 0
Bxh4 21 21 0 0
6.g4+ 21 20 0 1
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